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SECTION 1 - SECTION 1

Question No.1 Marks: 1.00
Bookmark
A simple slide wire potentiometer is used for measurement of current in a circuit. The voltage drop across a
standard resistor of 0.2 Q is balanced at 75 cm. Find the magnitude of the current if the standard cell emf of
1.5 V is balanced at 50 cm.
TH URUY A YRT & AT & oY T AMeRO1 9U07 aR fayaamdt &1 S fa1 S g1 0.2 Q & T aFd
UfeRIye § diec™ UTd, 75 cm TR IGferd gidT g1 3 1.5 V &1 AMS Jd emf, 50 cm TR Iferd BIdT € af ¥RT &7
GRHTOT 1 BT
(A) O 11.25 A (Correct Answer)

11.25 A
(B) O 5A
5A
(C) O 0.088 A
0.088 A
(D)O 0.2A
0.2A
Question No.2 Marks: 1.00
Bookmark
Which one of the following statements with respect to FUSE is NOT CORRECT?
Fofifed & S99 BYH, Te & e & 9 781 22
(A) O ltis the cheapest form of protection available and requires no maintenance.
Ig Y IXAT SUAY &0 § 3R TP SFRETI Bl Bl SHTa=gedl Tai sici|
(B) O It can break heavy short-circuit currents without noise or smoke. (Chosen option)
Ig U AguY yRTS HY o {5t @l a1 ¢ju & fagiforg & g gl
(C) O The inverse time-current characteristic of a fuse makes it not suitable for overcurrent
protection. (Correct Answer)
WS BT YT THYG-URT ATHTEOT, S/ SHAURT 3801 $ g Iuga 481 s=ran
(D) O The smaller sizes of fuse element impose a current limiting effect under short-circuit conditions.
WISl dd & BI Ty, gy UG & 4RI-e guTd any aRd &
Question No.3 Marks: 1.00
Bookmark
A direct voltage is applied to a peak diode voltmeter whose scale is calibrated to read rms voltage of a sine
wave. If the meter reading is 36 Vrms, the value of the applied direct voltage is:
TF RITR SIS dieeHier R TH T diecs AR a1 oiTdl 8 fordds Whdl &1 A8 o¥fl & rms dleesl &
Ui (&) & forg siwrifard forar omar 81 afe Mer & HfET 36 Vi, €, & AR UG Al &1 A
Gl
(A) O 25V (Chosen option)
25V
(B) O 51V (Correct Answer)
51V
(C)O 71V
71V
(D) O 36V
36V
Question No.4 Marks: 1.00
Bookmark

The form factor for a pure sinusoidal waveform is:

T Y SUIGhIT qRIRY & T ey T[ureh 872
(A) O 1.11 (Correct Answer) (Chosen option)
1.11

(B) O 1.414
1.414

(C) O 0.637
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0.637

(D) O 0.707
0.707

Question No.5 Marks: 1.00
Bookmark
In the moving-coil instrument, the resistance connected in with the coil is called a
shunt.

Tel-peel HIUTH ¥, TRy S el & Y ¥ ST 8T B, X Hedrdl gl
(A) O high, series

3,
(B) O high, parallel

3, ureferd
(C) O low, parallel (Correct Answer) (Chosen option)

, qT

(D) O low, series

g, gofin

Question No.6 Marks: 1.00
Bookmark
Isotopes are elements having:

AR (M) B I dd &2
(A) O same atomic number and same mass number
FSThT URATY] SR FHM Bt & IR S S §H1H giell ©
(B) O same atomic number but different mass number (Correct Answer) (Chosen option)
TRHTY] EESIT FH et § TR S T@ i gieft 8
(C) O different atomic number but same mass number
forTet TRATY] e e Bl § TReg S e §H Bl &
(D) O different atomic number and different mass number

fSTepT TRy T e Bl & SR o e i gl ©

Question No.7 Marks: 1.00
Bookmark
A change in the excitation of an alternator running in parallel with another alternator:
Th YAIdAd (ATeeeR) Ol g Siee1ex & I THHiR o TaTed &, & I § uRad=
I

(A) O affects its kW output , kVA output and power factor

TP kW 3MT3TYT, kVA SHTITYE 3R feked T[0Tk bl THTIAT Bl §
(B) O affects its kVA output and power factor, but not its kW output (Correct Answer)

U kVA 3MT3eYe 3R Xfad I Bt GUTRIT FHRaT 8, TReg kW T3S Ht yuTiad 8t et
(C) O affects its kW output and kVA output, but not its power factor

B kW 3HT3TYE 3R kVA 3M3TYE Pl THTII FHRal §, TReg 39 e T[0T 1 YHTIIT et vl
(D) O affects its kW output and power factor, but not its kVA output (Chosen option)

TP kW 3T3eYe 3R fad 0 PI GHIFAd BT §, TR kVA 3T3eYe HI THITId el ol

Question No.8 Marks: 1.00
Bookmark
Electrical shock can cause damage to:
foqgauar, &l &fd ugen ¥d &1
(A) O muscle
BRIl

(B) O All of the above (Correct Answer) (Chosen option)
SWiad |t

(C) O tissue
[GED

(D) O internal organs

Question No.9 Marks: 1.00
Bookmark
If three voltage sources are connected in series as shown in Fig., the resultant voltage in volt is:
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| € 4

!
I
?ﬁ%ﬁﬁﬁwﬁa%m%ﬂwﬁ@@ﬁrﬁ%ﬁmm BT (dlee
)1
EQL ‘e
ES_—l(_j O
WO gk -E,+E
E=E -E +E;
(B) O

E=FE +E, +E, |(Correct Answer) (Chosen option)

E=E+E,+E;

©)O E=EF+E,-E,
E=FE +E,—E;

OO E-dE +E, +E)
E=-E +E, +E;)

Question No.10 Marks: 1.00
Bookmark
The ACSR (Aluminium Conductor Steel Reinforced) provides sag and Span than
copper conductors.

PR D! DI ga H, ACSR (TIHIFTH FTddh Td Yaferd) (@) 3R
fagfar (@) UeH BRaT B
(A) O lower, longer (Correct Answer)
— =
(B) O greater, longer (Chosen option)
(C) O lower, shorter
&H, Bl
(D) O greater, shorter

Question No.11 Marks: 1.00
Bookmark

Which among the following is also regarded as 'Dual of Thevenin's Theorem'?
frafafed § 9 f59, 99fH & vig &1 ¢a off 91 ST g2
(A) O Superposition Theorem

SR GHY
(B) O Millman's Theorem

Cagtu)

(C) O Tellegen's Theorem

CRiSEEaRtE
(D) O Norton's Theorem (Correct Answer) (Chosen option)

AT BT UHg

Question No.12 Marks: 1.00
Bookmark
If P4 and P be the iron and copper losses of a transformer on full load, find the ratio of P4 and P, such that
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maximum efficiency occurs at 80% full load.

e P4 3R P,, IO YR TR U TAHGIR I dlg 81 3R dien 81 8, @ P4 3R P, BT 38 3(UId F1d HIo1g
T fob 80% Tuf YR WR 3HfRibaH gerdr 8l
(A) O

€O

(D) O

(Correct Answer) (Chosen option)

Question No.13

What is the percentage saving in feeder copper if the line voltage in a 2-wire DC systems is raised from 100
V to 200 V for the same power transmitted over the same power distance and having the same power loss?
gfe gAM wfdd g1 a1 T fad g3t IR Haid §9H fad & AU 2-dR DC vl & A8 dlees &1 100 V
200 V % ST STdT § o GRS did § Sad Uferd fd=r sim?

(A) O 25% (Chosen option)

25%

75% (Correct Answer)

75%

50%

50%

100%

100%

B) O
€O
(D) O

Marks: 1.00
Bookmark

Question No.14

In the circuit shown in Fig., find the value of the resistor R so that the lamps L1 and L, operate at rated
conditions. The rating of each of the lamps is 15V, 10 W.

) Y
v\
Ly L

+ 0 AN~
R

300V

-0

forr 7 few 1w ity &, ORI R &1 01 J1d SIfor d1fds o Ly 1R L, FufRor (es) Rufadt w wefer )
T3 dY &1 RuR RfEm) 15 v, 10 W gl

CY) \’”57
+ O AMN~ A \ ~
R Ly L
300V
-
(A) O 2050
205 Q

(B) O 405 Q (Correct Answer) (Chosen option)
405 Q

Marks: 1.00
Bookmark
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(C)O 45Q
450Q

(D)O 2250
2250

Question No.15 Marks: 1.00
Bookmark
A 2-wire DC distributor cable 800 m long is loaded with 1 A/m. Resistance of each conductor is 0.05 Q/km.
Calculate the maximum voltage drop if the distributor is fed from both ends with equal voltages of 220 V.
800 HieR TaT 2-dR DC famR® Had, 1 A/m & T HIRA &1 UAd I1eid BT UfeR1Y 0.05 Q/km €1 3 faaRe &
T RRT ¥ 220 V & SRIeR diees I Rd 3o S 8, &t 3ifidsas dieedr urd &) 7o it
(A)O 2V
2V
(B) O 8V (Correct Answer)
8V
(C)O 16V
16V

(D)O 4V
4V

Question No.16 Marks: 1.00
Bookmark
The gross mechanical power developed by a DC motor is maximum when back EMF is:
DC HIex g1 A Rid oot Fifieh Wikt qe sifiichad ell 3 S U2 EMF gIargl
(A) O none of the above
SWRIFd § ¥ PIs Aol
(B) O equal to half the applied voltage (Correct Answer) (Chosen option)
S diee sl & MY & SRTER
(C) O equal to the applied voltage
SIIgad dlees & SIS
(D) O greater than the applied voltage

IR dlees U 3

Question No.17 Marks: 1.00
Bookmark
The electrical insulators are usedto
faqgaRiye! &1 I |
(A) O prevent the unwanted flow of current (Correct Answer) (Chosen option)
URT & 3qifed HaTe B AP & forg T Srar &
(B) O increase the unwanted flow of current
YRT & IS d TaTe &I T o forg fhaT ST &
(C) O allow the unwanted flow of current
YRT & qIfSd YaTe B ST PR & forg fobar ST §
(D) O allow high inrush current

= 3idafe YR B ST B & g fbar irar @

Question No.18 Marks: 1.00
Bookmark
In the SCR, when the anode terminal is positive with respect to the cathode terminal, the number of blocked
PN junction is:

SCR #, 919 TS <fiia, s efifa & e & 4-Tars gid1 ¢ @ v PN Uiy &t e B 3|
(A)O 2
2
B)O 3
3
(C) O 1 (Correct Answer) (Chosen option)
1

(D)O 4
4

Question No.19 Marks: 1.00
Bookmark
Consider the following statements and choose the correct answer:
Statement 1: In an RLC series circuit, at half-power frequencies the magnitude of total reactance is equal to
resistance.
Statement 2: In an RLC parallel circuit, at half-power frequencies the magnitude total susceptance is equal to
conductance.
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fafifed Syl iR faaR I SR T8t IR &1 997 BIT:
FY 1: T RLC Joft ufkoy &, sref-wifaq smafrat R e ufaerd &1 afkamor, ufaRiy & SRieR gt g1
HY 2: T RLC TR TRy H, 3ref-ifad Safrdl TR Hot Smfedr &1 UiRHTUT, e & sRIeR gidl g |
(A) O Statement 1 is FALSE and Statement 2 is TRUE
HYT 1 3 § IR HUT2 T ]
(B) O Both Statement 1 and Statement 2 are TRUE (Correct Answer) (Chosen option)
HYF 1 3R BYF 2 S T §
(C) O Both Statement 1 and Statement 2 are FALSE
BYT 1 AR BY 2 G 39T §
(D) O Statement 1 is TRUE and Statement 2 is FALSE
HYT 1 T B AR BYT 2 3§

Question No.20 Marks: 1.00
Bookmark
In an alternator, the direction of alternating EMF produced in the stator conductors is given by:
& T (3HTeekex) B, Wer I1ad H Id Ydddl EMF &t fa=m FREARSIGIE]
(A) O Faraday's law
RS &

(B) O Kirchhoff's law
foare & faw
(C) O Fleming's Right-hand rule (Correct Answer) (Chosen option)
TR & g1 71y & Frawm
(D) O Fleming's Left-hand rule
o ST BTy o Fam

Question No.21 Marks: 1.00

Bookmark
In DC machines, the internal characteristics are plotted between:

DC T=A #, 3riafke sifirqerit o & o7 et e ST 31
(A) O EMF induced in the armature (E) vs field current (l¢)
3R & ORT EMF (E) 3R &3 41T (1)
(B) O Terminal voltage (V}) vs load current (1)
efifaa aieest (vy) 3R YR 4RT (1))
(C) O Terminal voltage (V;) vs armature current (1)
<fifa aieest (vy) SR MR 4RI (1,)
(D) O EMF induced in the armature (E) vs-armature current (I;) (Correct Answer) (Chosen option)

TR ® W4T EMF (E) 3R 3R 8T (1)

Question No.22 Marks: 1.00
Bookmark
The power input to the rotor of 440 V, 50 Hz, 6 pole, 3-phase, induction motor is 100 kW. The rotor
electromotive force is observed to make 100 complete alterations per minute. Calculate the slip.
440V, 50 Hz, 6 Yd, 3-TR0T dTe ORUT Hiex & e BT kT I (AfR 37Ye) 100 Kw B 1 AR 1 faggdaresd
¥ ufd fore & 100 yof ufkad= w=ar 31 gdur () 3ma sifsm|
(A) O 5.55%
5.55%
B) O 2.22%
2.22%
(C) O 3.33% (Correct Answer) (Chosen option)
3.33%
(D) O 4.44%
4.44%

Question No.23 Marks: 1.00

Bookmark
How many types of DC links are available in a HVDC system?

HVDC Ried & fbem YR & DC i Iuaisy 8ld 872
(A) O
(B) O

(D) O

(Correct Answer)

2
2
1
1
(©)O 4
4
3
3
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Question No.24 Marks: 1.00
Bookmark
A phase shift oscillator uses 5 pF capacitors. Find the value of R to produce a frequency of 800 kHz.

TP Pol-fawirdt Sifer 5 Pf 3 WUTRE BT IUGNT Rl 81 800 kHz HI 3MIRI ST B & AW R BT HH 1
Hiforg|
(A) O 39.8kQ

39.8 kQ

(B) O 28.1kQ
28.1 kQ

(C) O 16.2 kQ (Correct Answer)
16.2 kQ

(D) O 22.9kQ
22.9kQ

Question No.25 Marks: 1.00
Bookmark
When single line to earth fault occurs on an ungrounded neutral system, the capacitive current in the two
healthy phases rises to times the normal value.

T TH YRS g o7 R bl A1e 9 Y-HUH IS BT 3, A &l GRI3 St  STiRell 4T, e 7 &
T T §¢ STl g
(A) O

vfg (Correct Answer)

V3

B)O 3
3

(©)O

al- Sl-

(D) O

(Chosen option)

Wl W=

Question No.26 Marks: 1.00
Bookmark
An electronic voltmeter provides more accurate readings in high-resistance circuits as compared to a
nonelectronic voltmeter because of its

TS Sadele deetier, I UfaRry TRyt §, Aise ﬂﬂsﬂmmﬁmﬁ 3T & HROT
H@Eﬂ"&&?ﬁ%ﬂ (UT3U1) T Bl g
(A) O high V/Q ratings
I viQ FUR
(B) O high Q/V ratings (Correct Answer) (Chosen option)
S av fFAuR
(C) O high resolution
3
(D) O low meter resistance

g ez uferty

Question No.27 Marks: 1.00
Bookmark

The frequency range of moving-iron instruments is:
Id-AIg AT BT gy uRER 31 82
(A) O low-frequency band 30 Hz to 300 kHz (Chosen option)

f49-3mgf 9 30 Hz & 300 kHz
(B) O audio-frequency band 20 Hz to 20 kHz

3ffEaN-3Mgfy &' 20 Hz ¥ 20 kHz
(C) O power frequenmes 0 to 125 Hz (Correct Answer)

T 0¥ 125 Hz

(D) O very low-frequency band 10 Hz to 30 kHz
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§gd FMH-3Mgii 8 10 Hz ¥ 30 kHz

Question No.28 Marks: 1.00
Bookmark
The output power from the hydroelectric power station is given by ...............cc......... where, 'n' is the efficiency
of the system, 'Q" is the quantity of water, 'H' is the total head and 'w' is the specific gravity of water.
STafdegd Sl s & Fifw wfed & ERT a1 ST § g, '’ @ 3 &A1 ], 'Q O B AR,
'H' $d Tl § 3IR 'w' oIet BT fIfT o B
A O nwQH
9.81
nwoQH
9.81
B)O
M W (Chosen option)
72
nwQH W
72
(©)O anH
—— k W (Correct Answer)
102
nwQH KW
102
OO nwH
—— kW
BFRE ki
5.61
Question No.29 Marks: 1.00
Bookmark
Differential protection principle is employed for the protection of:
(i) alternator
(ii) transformer
(iii) bus-zone
WedTerd &1 Rigid &1 e 1 & & fog foman S g
(i) SffeeTAeR
(i) TTABIER
(iii) -5
(A) O only (ii) and (iii) are correct
FId (i) 3R (i) &1 &
(B) O only (i) and (iii) are correct
FId (i) 3R (iii) T &
(C) O all (i), (ii) and (iii) are correct (Correct Answer)
Tt (i), (ii) 3N (i) TS &
(D) O only (i) and (ii) are cqrrect (Chosen option)
ad (i) 3R (i) TET E
Question No.30 Marks: 1.00
Bookmark

The transducers that convert the input signal into the output signal, which is a continuous function of time, are
known as:

q TISIR 1 FHgard g, S o Rgrat o fFfg Rera & uiafda axd €, <t s 999 &1 v Iad wad gar g2
(A) O passive t'ransducer

SRS
(B) O active transducer

fehg TRISER

(C) O digital trapsducer

TSI
(D) O analq’g trgnsducer (Correct Answer) (Chosen option)

TATANT ST aSgER

Question No.31 Marks: 1.00
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The intersheaths in the cables are used to:
FId § 3fa:HI BT IUANT fohaferg fovar smar 372
(A) O avoid the requirement of good insulation

3wy faggd-1e &1 SHTaRAH AT ¥ §o & forg

(B) O provide enough strength
e S e HA & g

(C) O minimize the stress
Ufdad &l gAaH d & [

(D) O provide proper stress distribution (Correct Answer) (Chosen option)

faavor weM w1 & ferw

Bookmark

Question No.32

In a Hopkinson's test on two 220 V, 200 kW generators, the circulating current is equal to the full load current
and, in addition, 100 A are taken from the supply. The efficiency of each machine is:

21220 V, 200 Kw TReR] TR 100 G0 B, URem e, quf YR YRT & SRIER Bt § 3R 3 ATerar
3 | 100 A feram ST 81 Udes A= Bt e =uill
(A) O 93%
93%
(B) O 90%
90%
(C) O 95% (Correct Answer)
95%
D)O 97%
97%

Marks: 1.00
Bookmark

Question No.33

Diversity factor is defined as the ratio of:
fafderar qure &t F U P =0 § R o St 8 |

(A) O Sum of individual maximum demands of all the consumers supplied by a power station to the
maximum demand on the power station (Correct Answer) (Chosen option)

TS Soll % GRT Uad Gt AT 31 sfeara Jfeaw | & TThd 3R el Hg W siftewad
T

(B) O Maximum demand to average load
AT SR ST YR
(C) ©O Maximum demand of the power station to the sum of individual maximum demands of all the
consumer supplied by the power station

ol g W HRIEHaH AT 3R TP Holl g gRI U IH W] &1 safaaid 3if¥ieedd JiT & aihd

(D) O Installed capacity to maximum demand of the power station

&I 3R Soll g BI SHfEihaH AT

Marks: 1.00
Bookmark

Question No.34

At maximum power point of the solar cell:
IR AT & Hfpan fad fig ®
(A) O both voltage and current are maximum

dIeeet 3R YRT ST St g1 &
(B) O voltage is maximum

G
(C) O the product of voltage and current is maximum (Correct Answer)
3R YRT ST UAES HfBad gaT 8

(D) O current is maximum (Chosen option)

YRT

Marks: 1.00
Bookmark

Question No.35

During differential protection of transformer, the factor which influence the magnitude and duration of
magnetlzmg current inrush is:

& VeTIferd &1 & GRM, b Sid: YRT & TRAT 3R fafd I gUIfdd S a1 HRES DI 1 572
(A) O Size of transformer
ai DI AHHY
(B) O Residual flux in the transformer

e SRR el

(C) O all of the above (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark
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SWied g+t
(D) O Type of magnetic material in the core
g It BT UDR

Question No.36 Marks: 1.00
Bookmark

The meter constant of a 220 V, 5 A energy meter is 2000 revolutions per kWh. The meter is tested at half
load at rated voltage and unity power factor. The meter is found to make 36 revolutions in 120 s. Determine
the meter error at half load.
220V, 5 A Full Hiex &1 Hiex RIS 2000 TReHU Ufd kwh 81 RuRor diees iR sa1g %QW)QT%WW
Hiez BT T/ 3¢ YR WR a1 STl & 1 I8 14 511 © 15 HIeR 120 s & 36 URGHHU a1 g1 38 YR W Hiex
3 I1d HifeTT |
(A) O -1.82% (Correct Answer)

-1.82%
B) O 3.45%

3.45%
(C) O 2.52%

2.52%
(D) O -4.54%

-4.54%

Question No.37 Marks: 1.00
Bookmark

A circuit breaker is a piece of equipment which can

(i) make or break a circuit either manually or by remote control under normal conditions.
(i) break a circuit automatically under fault conditions.

(iii) make a circuit either manually or by remote control under fault conditions

Choose the correct answer.

RuY faTieTe T U1 JUHRUT & Sff:
(i) I Rt & a1 a sxcrara ¥ a1 Ree derd gRT fbell uRuy &I 971 vl 8 a1 39 [ie &R gl
B (ii) Av-3rawy1  forddt oy o) wa: fIaifid &= gopar 31
(iii) SY-3fa=1 7 fpft ufkay o1 sxdara | a1 fwie Held gRT ST Wb ¢ |
gt SR HT T99 DI
(A) O only (i) and (iii) are correct
HId (i) 3R (i) T &
(B) O Al (i), (i) and (iii) are correct (Correct Answer)
[t (i), (i) 3R (iii) TS &
(C) O only (ii) and (iii) are correct
FId (i) 3R (i) T&T &
(D) O only (i) and (ii) are correct (Chosen option)

Fad (i) AR (i) TE &

Question No.38 Marks: 1.00
Bookmark

Convert A- network shown in Fig. to an equivalent Y-network.
R

d ¥ b
A

0 -~ AAAM i
Y 15Q 4

ﬁraﬁﬁ{qmm-%c&cﬁ B! TP JUHH Y-Aead | gad|
R\.

a b
0 = AAAR

- WA >
%, 150 /
N
2,250 100 ;f
Ry % = &,
J’Jrf
v
AY i
LY i
N
O
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(A)

(B) O

D) O

30

77.5Q

(Correct Answer) (Chosen option)
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a b

A

o - —0
\« 7750 319 /

«l #
LR
in)

",Rll‘r\\/-l Ry

" Ry %5 1 S-l.

a b

5, — 0
\- 7750 310 /

Rl’-q\\/_ Ry,

" Ry gﬁ 1 !-2.

Question No.39 Marks: 1.00
Bookmark

Determine the voltage drop across 2 Q resistor of the circuit shown in Fig.
50Q

+
100V = 20

aQ

o 7 fou 7w ufkuy & 2 Q ufeRiye & dieedr Urd J1d Iod|
50

+
'EUUV____— 20

30

(A) O 100V
100 V
(B) O 20V (Correct Answer) (Chosen option)
20V
(C)O 50V
50V
(D)O 30V
30V

Question No.40 Marks: 1.00
Bookmark

An alternating voltage has the equation V(t) = 200 sin 377t V. What is the value of r.m.s. voltage and
frequency?

T UATaa dlecsl T FHIBRUT V(t) = 200 sin 377t V 81 r.m.s. dlees 3R SATGRY &1 A1 &1 gRTT?
A O 200 v.50H:

200 V,50Hz

B)O 200 v.60H-
200 V.60 H-
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(©)O 1 200

i)
200
N5
©)O 200
)

200

)

V.60 Hz| (Correct Answer) (Chosen option)

V.60 Hz

V.50Hz

V.50H:

Question No.41

A three-phase transformer has 600 primary turns and 200 secondary turns. If the supply voltage is 1000 V,
find the secondary line voltage on no-load when the windings are connected in star—delta.

TS fH-aR0T RIBTER & 600 TTfies e SR 200 fcdtaes a1 §1 afe smgfd dieest 1000 v 8, d o9 Hsferar
TR-SeeT 7 J1 8, a9 Y HR WR el iaes g dieest I SIfvm|
(A) O 592.45 V (Chosen option)
592.45 V
(B) O 192.45V (Correct Answer)
192.45V
(C)O 1732V
1732V

(D) O 3000V
3000 V

Marks: 1.00
Bookmark

Question No.42

Which of the following statements regarding single phase induction motors is correct?

THT-aRN IROT HIeR & IR § Hafriad & & SH-91 Fu7 T8t 82

(A) O It can rotate in one direction only
I8 Had T foxm & guiF o Tt 7

(B) O ltis self-starting
g Wa: Uadf gl §

(C) O It requires only one winding
T HId TH Gl B SMILIHAT Bl &

(D) O ltis not self-starting (Correct Answer) (Chosen option)

g Td: ad! 981 gl

Marks: 1.00
Bookmark

Question No.43

The capacitance and inductance per unit length of a three-phase line, operating at 110 kV are 0.01 pF and
2.5 mH. The surge impedance of the line is:
110 Kv TR TTford, oi9-aR0T ofTg 1 41T 3R IR Ufd 318 aTs 0.01 uF 3R 2.5 mH g1 A8 WR Ty
yfcaTer =il
(A) O 250Q
250 Q
(B) O 500 Q (Correct Answer) (Chosen option)
500 Q
(C)O 50Q
50 Q
(D) O 100Q
100 Q

Marks: 1.00
Bookmark

Question No.44

is the ability of the relay system to operate with low value of actuating quantity.
, R T g1 SaTeH e & 1 A & 1Y e SR $ &l 5
(A) O Reliability
[EEREIRGI]

(B) O Selectivity
ERERI
(C) O Speed
Ird
(D) O Sensitivity (Correct Answer) (Chosen option)

Marks: 1.00
Bookmark
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urfear

Question No.45

The inductance of the line is minimum when:
qTS BT IRbed gAdH B Il 872
(A) O GMD and GMR are high
& GMD 3R GMR 3= gId §
(B) © GMD is low and GMR is high (Correct Answer) (Chosen option)
W9 GMD 17 8147 2 ¢k GMR 3= gHaT @
(C) O GMRIis low
wd GMR g giaT ®
(D) O GMD is high
e GMD J= Bil &

Marks: 1.00
Bookmark

Question No.46

The protective relay is provided to:
=eft el &t ue o e g2

(A) O Close the relay contacts when the actuating quantity attains a certain predetermined value.
(Correct Answer) (Chosen option)

q FATa AT, T gdfuiRa 9 v R adl @ 99 R wuet ) g w1 & e
(B) O Earth any stray voltage.

fopelt sraifesd aleesl & YEUD & farg
(C) O Provide additional safety to the circuit breaker in its operation.

Ui fadie & Harer H ifaRed gRam ueH &1 & forg

(D) O Limit the arcing current during the circuit breaker operation.

ROy f3gIoie TaTe & SR 3T YRT P AT & forg

Marks: 1.00
Bookmark

Question No.47

The structure of pole mounted substation is of "
$[3- 3R Iubg Bl T BBl Bl
(A) O I-type
I-UPR
(B) O T-type
T-UhR
(C) O A-type
A-JPR
(D) O H-type (Correct Answer) (Chosen option)
H-UYhR

Marks: 1.00
Bookmark

Question No.48

of a battery is the ratio of the charged capacity to the discharged capacity under the specific
charging and discharging conditions.
TP gl & , fafry smafre oiik srTafa fRufaal & smafi emdr SR AR e &1 SruTd
B g

(A) O Trickle Charging
SCTATY ATei

(B) O Watt-Hour Charging Factor
dic-gel T T[uid
(C) O Ampere-Hour Efficiency
UfRER-geT gardr
(D) O Ampere-Hour Charging Factor (Correct Answer)
“HeT TTei urd

Marks: 1.00
Bookmark

Question No.49

A relay is connected to a 400/5 ratio current transformer with circuit setting of 150%. Calculate the plug
setting multiplier when circuit carries a fault current of 3000 A.

TH R BT 150% & UReY = (@fdhe ) arat 400/5 ST URT TRIGIER § SieT SITdT 8 | 5Td gRuYy 3000
A D) QY-YRT BT 98- BT ¢ Al T JHTAISH 0T (HT AT Hee ITTR) T1d BITod |
(A) O 5 (Correct Answer)

5

Marks: 1.00
Bookmark
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B)O 6
6
(©)O 8
8
D)o 7
7
Question No.50 Marks: 1.00
Bookmark
The insulated-gate bipolar transistor (IGBT) is minority carrier device which combines the characteristics of:
fagga Afda-fie fgydia ¢itReR (IGBT) T SeURReI® dled JUHRUI § off & Sifeteron o
g B |
(A) O MOSFET and BJT (Correct Answer) (Chosen option)
MOSFET 3R BJT
(B) © SCR and MOSFET
SCR 3R MOSFET
(C) O FCTand GTO
FCT 3R GTO
(D) O BJT and SCR
BJT 3R SCR
Question No.51 Marks: 1.00
Bookmark
The minimum current at which the fuse element melts and disconnects the circuit is called as:
g ATH YRT T HEaTd o For R WS dcd foreret o § ok uluy &1 faaifera (fage) o= Tar 31
(A) O rated current
BEIRGEIRY
(B) O cut-off current
fawsed 4T
(C) O prospective current
YRT
(D) O fusing current (Correct Answer) (Chosen option)
AIGERUIN)
Question No.52 Marks: 1.00
Bookmark
Solid-type cables are considered unreliable beyond 66 kV because:
B UHR & Haal dI 66 kV T 3Hf¥e g TR ifdeR=ia =1 St g, e
(A) O of the corona loss between conductor and sheath material
D 3R BT Grft & s BRI BT & HROT
(B) O skin effect dominates the conductor
T YHTG, AP W g1d1 81T &
(C) O there is a danger of breakdown of insulation due to the presence of voids (Correct Answer)
(Chosen option)
| Bt SUTRIFT F BRI fIgga-Ae & Ho BT e gl &
(D) O insulation may melt due to higher temperature
31 qTTAM & BRUT [Iggd-Ae frad Tebar 8
Question No.53 Marks: 1.00
Bookmark
Determine the voltage drop across the 8 Q resistor of the circuit shown in Fig.
an 80
sa()
10 10
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o 7 fou 7w uftgy & 8 Q ufeRiye | dieedl UTd I1d HIfod|

A

(A) O 16V (Correct Answer) (Chosen option)
16V

(B)O 12V
12V

(C)O 24V
24V

D)O 8V
8V

Question No.54

In time graded protection as distance from substation increases, relay operating time will :
TG-S0 &0 T, SY-0 UGS ¥ g dgdt o, R Tareq v [

(A) O increase (Chosen option)

(B) O remains same
A B

(C) O zero
[ I

(D) O decrease (Correct Answer)
S I

Marks: 1.00
Bookmark

Question No.55

The inductive reactance of a transformer depends on:
ci %1 IR faara R R B gl
(A) O leakage flux (Correct Answer)

&RUT T
(B) O magnetic flux

YD1 el
(C) O electromotive force

d qq

(D) O magnetomotive force (Chosen option)

D deD §d

Marks: 1.00
Bookmark

Question No.56

If n identical resistance, each of resistance R, are connected in parallel, the equivalent resistance is:

Y@ R URIY a1d, n T UfeRiee! &1 afe uref ovr o SiisT Sirdn §, dF deadH uferiy

(A) O 2R
n R
® 0o % (Correct Answer) (Chosen option)
i
n
©)O uR
nR
DO g
n 2

Marks: 1.00
Bookmark
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R
n 2
Question No.57 Marks: 1.00
Bookmark
If flux @ passes through all the N turns of a coil, the flux linkage of the coil is:
I U Heat & Tt N I B § oeie o ToRdT §, a Sl BT AT T ghm
(A) O Y
A=— T/Wb
N ¥/
@
A=— T/Wb
N ¥/
(B)O 1 =11
A=— Wb T
N
1 -1 -1
A=— Wb T
Ne
©)O N
1=— Wh/T
¢
N
A =— Whb/T
¢
D
©YO /1 — Ngg Wb-T (Correct Answer) (Chosen option)
1= No Wb-T
Question No.58 Marks: 1.00
Bookmark
coupling provides the maximum voltage gain.
_ gud, 3ifYedd dieed died U SRl §
(A) O Tfansformer (Correct Answer) (Chosen option)
(B) O Impedance
gfdaTe
(C) O Direct
ER]
(b) O DC
Question No.59 Marks: 1.00
Bookmark
In Peterson coil grounding, when inductive fault current becomes equal to capacitive current of the system,
then:
e Haait Y-Huch H, oa IR0 SV R, 0 BI LTRaT YRT & aRT6R 8 Sl & ot [
(A) O
X 1
X V3
X, 1
X V3
(B)0O ¥
—£ — 3|(Correct Answer)
X
L
Xl
©) O
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DO

Question No.60 Marks: 1.00
Bookmark
The annual load duration curve of power supply system may be considered as a straight line from 40 MW to
8 MW. The load factor of the system is:

ot SATfef YoTTeRt & s UR Safdl agh HI 40 MW I 8 MW T TS H1elt X1 [T S Tabvdl § | YUt BT HR

oI g
(A) O 60% (Correct Answer)
60%
(B) O 40%
40%
(C) O 20%
20%
(D) O 80%
80%

Question No.61 Marks: 1.00
Bookmark
The direction of rotation of a synchronous motor can be reversed by reversing:
T JedebIai Alex & YU Bt faxm &t P SSHHU GRI Ichid fbdT o FebelT 3|
(A) O supply phase sequence (Correct Answer) (Chosen option)
B T
(B) O polarity of rotor poles
[ Pt gadr

(C) O current to the field winding

pScll Bl YR

(D) O none of the above

ELRESER I e

Question No.62 Marks: 1.00
Bookmark
A coil takes a current of 5 A when connected to a 25 V DC supply. To obtain the same current with a 50 Hz
AC supply, the voltage required was 32 V. Calculate the inductive reactance and power factor of the coil.

9 TP HSall HI 25 V DC ATYfef J ST STl 8 Y T8 5 A BT YRT A €1 50 Hz AC 3Tl T THM 4RT U
HRA P o0 A diees 32 V UTI Haait BT IR Hfaerd 3R Xifad 101 1d S|
(A) O 40,0.78 lead
4 Q,0.78 3T
(B) O 50,0.62 lead
50Q, 0.62 R0
(C) O 4Q,0.78 lag (Correct Answer)
40,078 7Y
(D) O 5Q, 0.62 lag (Chosen option)
50,062 74

Question No.63 Marks: 1.00
Bookmark
Megger is a measuring instrument, used for the measurement of:
TR TH HIOA T7 §, THHT STIRT ! AT & forg fopar ST B
(A) O Low resistance
Y
(B) O Medium resistance
T ufeRly

(C) O Very high resistance (Correct Answer) (Chosen option)
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3ifd 3= ufeRiy

(D) O Low and Medium resistance
T feRiy

Question No.64

If the sag of transmission line increases, tension .
Tfe, TR A1 P et (&) F g S § A aema
(A) O remains constant
fRR Ear g
(B) O increases
TG ®
(C) O decreases (Correct Answer) (Chosen option)
Hedr g
(D) O none of these

T A IS T

Marks: 1.00
Bookmark

Question No.65

If a cable of homogeneous insulation has a maximum stress of 10 kV/mm, then the dielectric strength of
insulation should be:
e T faggd-em & Ue Had &1 SHfEar ufaed 10 kv/mm g, 1 faggd-JeH &1 wRidggd amf
g AR
(A) O 5kV/mm
5 kV/mm

(B) O 30 kV/mm (Chosen option)
30 kV/mm

(C) O 15kV/mm
15 kV/mm

(D) ©O 10 kV/Imm (Correct Answer)
10 kV/imm

Marks: 1.00
Bookmark

Question No.66

In a thyrite lightning arrester the resistance:
YTeXTee disd FRIYS o, gfaviy |
(A) O Is high at low current and low at high current (Correct Answer) (Chosen option)
FH URT R UF g1 § 3R S U1 IR B a1 &
(B) O Varies linearly with the applied voltage
N diees & WY AP Serdl o
(C) O Increases with the applied voltage
AL dleeS & 1Y Fedl §
(D) O Decreases linearly with the applied voltage
AN diees P Iy A@epd: Tedl g

Marks: 1.00
Bookmark

Question No.67

The law, governing the force between electric charges is known as:
faagd 3l & dia & o B Farferd B ara FaH HEAN g |
(A) O Ampere’s law
URRR &1 Fgw
(B) O Faraday’s law
BT

(C) O Coulomb’s law (Correct Answer) (Chosen option)
P 1 ag

(D) O Ohm’s law
3 &1 |

Marks: 1.00
Bookmark

Question No.68

Find V4 and V5, in the circuit of Fig.

Marks: 1.00
Bookmark

Page - 19


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


40

AN
+ oy -
32V -8V
SRR - PR
AR

20
o  fow T ey 7 v, 3R v, I BT

40

AN
+ oy -
32V -8V
SRR - P
AR

20
(A) O Vq=2667VandV,=1333V
V4 =26.67V 3R V,=13.33V
(B)O Vq=16VandV,=8V
V=16V 3R V,=8V
(C) O V4=26.67VandV;,=-13.33 V (Chosen option)
V4 =26.67V 3R V,y=-1333V
(D) O V4=16V and V, =-8YV (Correct Answer)
V=16 V3R V,=-8V

Question No.69

A Zener diode has:
SR srte |
(A) O Two PN junctions
&I PN far
(B) O One PN junction (Correct Answer) (Chosen option)
T PN Sy
(C) O Three PN junctions
I PN ferat
(D) O Four PN junctions
IR PN T

Marks: 1.00
Bookmark

Question No.70

Safety factor of insulator is:
Ry HFTWAH_ gidlsl
) O Flash over voltage

Puncture strength

Flash over voltage
Puncture strength

(B) O Flash over voltage

%100 (Chosen option
Puncture strength ( ption)

Flash over voltage %100

Puncture strength

(C) O Puncture strength x Flash over voltage
e} 4T x IEPRT e
® O | Puncture strength

(Correct Answer)
Flash over voltage

Puncture strength
Flash over voltage

Marks: 1.00
Bookmark

Question No.71

Marks: 1.00
Bookmark
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A fuse wire of circular cross-section has a radius of 0.75 mm. The wire blows off at a current of 8 A. Calculate
the radius of the wire that will blow off at a current of 1 A.
FATHR I HIC aTdt Th TS dR B A1 0.75 mm 81 8 A BT YRT TR IR BT YT g1 1l § | 39 dR B
o d ST T a1 A $T URT TR g1 Q|
(A) O 0.1875 mm (Correct Answer)

0.1875 mm

(B) O 0.1985 mm
0.1985 mm

(C) O 0.1685 mm
0.1685 mm

(D) O 0.1475 mm
0.1475 mm

Question No.72

Find the Norton equivalent circuit of the circuit in Fig. at terminals a-b.
80
L AW O a
| 40 '
6a(}) 250
® L
A o b
8Q
efHTd a-b W, o & faw 7 ufkuy &1 Jeomm A1 uikuy J1d Sifor|
8Q
L AW O g
| 40 >
6A @ Zsq
16V 1
AN o b
80

(A) O A—l—o a
2A P. g 40 (Correct Answer) (Chosen option)

© 0O

(D) O o

Marks: 1.00
Bookmark
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(@ 50

—AAAN—

Question No.73 Marks: 1.00
Bookmark

Consider the following transducers:

1. LVDT

2. Piezoelectric

3. Thermocouple

4. Photovoltaic cell

5. Strain gauge

Which of these are active transducers?

fafifed gasgR R AR &%
1.m‘qaa‘1@?r€r (LVDT)
2. :
3. d9-dggd g
4. UHRECT 9d
5. fapfa ot
T ¥ T ISR HH-Y 82
(A) O 2, 3 and 4 (Correct Answer) (Chosen option)
2,334
(B)O 1,3and4
1,33k 4
(C)O 1,2and5
1,2 3R 5
(D)O 2,3and5
2,33R5

Question No.74 Marks: 1.00
Bookmark
Synchronous generator voltage obtained by the synchronous impedance method is:
qea@Ias ufaare faftl gRT Ui e S dlees |
(A) O nearly accurate as the generator is normally operated in the unsaturated region of magnetization
T N BraT § il T TG ¥ S, e & S & o Taferd giar g
(B) O nearly accurate as it accounts for magnetic saturation
YT T Bl § Fifh T§ DI A T TG Hal §
(C) O higher than actual as it does not account for magnetic saturation (Correct Answer) (Chosen
option)
FrAfa® dieed & fU®w gla1 8 Fifs g8 gaoia Tqfta &1 wraur =8 sar
(D) O lower than actual as it does not account for magnetic saturation

RIS qeesl | FHH g 8 Fifh Tg JaDT YTl BT WG T Pl

Question No.75 Marks: 1.00
Bookmark
Consider the following statements. A DC potentiometer is the best means available for the measurement of
DC voltage because
1. The precision in measurement is independent of the type of detector used
2. It is based on null balance technique
3. ltis possible to standardize before a measurement is undertaken
4. It is possible to measure dc voltages ranging in value from mV to hundreds of volts. Of these statements,

frafafad Fyl R faar SIfoE| DC diees &1 A199 & forg, DC favaamdt (A¢R™AMeR), Iuasy areql &
T IUGad AT g, Tl

1. A9 & URRLGd1, ST fhT T S@e W FHR 81 gidt|

2. T8 Y A a1 W MR 8T g

3. AU A Y Ugd, AHBIHRU BT GHT §

4. mV q AR b el dlee db P DC e B AU JHT g

EEAEIEEE

(A) O 2and 3 are correct

2 AR 3TEE

(B) O 2 and 4 are correct (Correct Answer) (Chosen option)
23R4 TE T
(C) O 3 and 4 are correct

3R 4T E

(D) O 1 and 4 are correct
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13R 4981 &
Question No.76 Marks: 1.00
Bookmark
Two 25 MVA, 3 phase alternators operate in parallel to supply a load of 35 MVA at 0.8 power factor lagging. If
the output of one machine is 25 MVA at 0.8 lagging, what is the output and power factor of the other
machine?
Gl 25 MVA, 3-RU1 JdTaae (3ffeex-ex), 0.8 Rfad T USRI TR 35 MVA & YR ST 3TYfd PR & forg
AR § Tenferd 81d €1 afe 0.8 UL TR U HRIF &1 313TYT 25 MVA €, f gat TRIH &7 $H13eye 3R
Ifa Tk T T2
(A) O 10 MVA, 0.8 leading
10 MVA, 0.8 3FRTTH!
(B) O 10 MVA, 0.8 lagging (Correct Answer) (Chosen option)
10 MVA, 0.8 U&TTHT
(C) O 10 MVA, 0.6 leading
10 MVA, 0.6 SFRTTH!
(D) O 10 MVA, 0.6 lagging
10 MVA, 0.6 G4TTHt
Question No.77 Marks: 1.00
Bookmark
Curves X and Y in the figure denote open circuit and full load zero power factor (ZPF) characteristics of a
synchronous generator, Q is a point on the ZPF characteristics at 1 p.u. voltage. The vertical distance PQ in
figure gives the voltage drop across.
Voltage (pu)
4 / B X
1.0 v
Field current -
o ® 9p X 3R Y JeudbIieies WA & Gt uRuy $iR quf YR I Ufad Ui (ZPF) ifieeril &1 gxifd §, ZPF
TN TR 1 p.u. A W Q T foig 81 oz F IwaheR g PQ T dleel UTd &1 g2t ]
Voltage (pu)
4 B X
1.0 v
Field current -
(A) O leakage reactance
&R
(B) O synchronous reactance (Correct Answer)
(C) O magnetizing reactance
D
(D) O potier reactance
Question No.78 Marks: 1.00
Bookmark
Consider the following statements and choose the correct answer:
Statement 1: The quantity of oil needed for arc control oil circuit breaker is less than that of plain break oil
circuit breaker.
Statement 2: In low oil circuit breakers, solid material is used for insulation purposes.
fafafed HU= IR TR $Y 3R 98! ST &1 901 B
FUF 1: 31 =01 a9t uRaY fiere & T sTaxad ad &1 A6, I fadied dd aRkay faiers & fag
GRS A 1 {1 o § HH Bl |
FY 2: Frm da uRoy faaee! 7, faggd-um 3=l & for ok areht &1 3w fasan Sirar 8
(A) O Both Statement 1 and Statement 2 are FALSE
| HUT 1 3R FYUF 2 I 3 §
(B) O Both Statement 1 and Statement 2 are TRUE (Correct Answer)
FYT1 MR PYT 2 I &
(C) O Statement 1 is TRUE and Statement 2 is FALSE (Chosen option)
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BHYT 1 T ¢ 3R BYT 2 3MA 7

(D) O Statement 1 is FALSE and Statement 2 is TRUE
HYT 1 3T L AR BYT 29I §

Question No.79 Marks: 1.00
Bookmark
Consider the following statements and choose the correct answer:
Statement 1: A universal motor runs at dangerously high speed on no-load.
Statement 2: For a given applied voltage and current, the speed of a universal motor will be higher in dc
excitation than in ac excitation.

FrofaRed Hu= iR TR Y 3R I8t S &1 991 Y
FHYT 1: TH RS Ay, YI-HR W GRATS U J 3 Tl W Fa! |
aﬂﬂz:%Qwaﬂlaﬁéﬂggwé?ﬁrq,mlﬂaaﬁﬁ,Ade—la’ﬁqaﬂﬁDc 3o | 31 gt
(A) O Statement 1 is TRUE and Statement 2 is FALSE
HYT 1 qA 8 3R B 2 3T §
(B) O Both Statement 1 and Statement 2 are FALSE
HYT 1 3R HYF 2 ST 3T §
(C) O Statement 1 is FALSE and Statement 2 is TRUE (Correct Answer)
PYT1 STI B MR PYT 2T &
(D) O Both Statement 1 and Statement 2 are TRUE (Chosen option)
FHYT 1 3R HYT 2 G T §

Question No.80 Marks: 1.00
Bookmark
A 13.2 kV, 20 MVA generator has reactance of 4 Q per phase and negligible resistance. The neutral
grounding resistance is 8 Q. If 90% of the stator winding is protected by Merz-Price protection, determine the
relay setting.
TH 13.2 kV, 20 MVA T (SFReX) &1 Ufaerd 4 0 Ul Bl § SR 301 BRIy 7100 §1 ed Y-Judh Uiy
8 Q ¢l afc ReR FIch & 90% 1 & TSl-UISH &0 gRT &1 STt ¢ af et fa=ame 3 sifo|
(A) O 10.8% (Correct Answer)
10.8%
B) O 9.2%
9.2%
(C)O 12.6%
12.6%
(D) O 14.4%
14.4%

Question No.81 Marks: 1.00
Bookmark
The Thevenin's voltage across terminals a and b of the circuit in Fig. is:
50

A n’"r""- "'\.

sov () 2200

faq e fom # uRRuy & a 3R b fifTa # 93 diees w1 g T2

50

(A)O 10V
10V
(B)O 20V
20V
(C)O 30V
30V

(D) O 40V (Correct Answer) (Chosen option)
40V

Question No.82 Marks: 1.00
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Bookmark
Determine 'Vy' and 'i' in the circuit shown in Fig.

.40 2u
AMAA F —

izv (&) v G)
6Q
VAR,

g g

7]

o # feu o ufkoy & v, 3R i 19 BRI

A 24
AN ¥ =

2v @) av G)

6 L2
VWA
4 g =

0

(A)O Vo=24Vandi=4A
Vo=24V3Ri=4A

(B)O Vo=48Vandi=8A
Vo=48V3Ri=8A

(C)O Vo=48Vandi=-8A (Correct Answer) (Chosen option)
Vo=48V3Ri=-8A

(D)O Vo=24Vandi=-4A
Vo=24V3Ri=-4A

Question No.83 Marks: 1.00
Bookmark

A synchronous generator is feeding a zero power factor (lagging) load at rated current. The armature reaction

IS:
gﬁmaﬁa, YR 4R R T Y ST 0 (UL HR BT UHRT BR IET 7 | SR fafehar
?

(A) O demagnetizing (Correct Answer)

(B) O ineffective
ST

(C) O cross magnetizing (Chosen option)

SITUR Jreicp
(D) O magnetizing
ELSCE)

Question No.84 Marks: 1.00
Bookmark

A 0-240 V voltmeter has a guaranteed accuracy of 2% of full-scale reading. The voltage measured by the
voltmeter is 150 V. Determine the limiting error in percentage.
0-240 V deetiier o TRfed T, Thdl & Yofad UIHids &1 2% g | dieeHie’ gRT AT 71T diecs 150 V &
dwid e ufd=ra § 3d sifor|
(A) O 4.2%
4.2%
B) O 2.2%
2.2%
(C) O 3.2% (Correct Answer) (Chosen option)
3.2%
(D) O 1.2%
1.2%

Question No.85 Marks: 1.00
Bookmark

Three identical impedances (3 + j6) Q are connected in delta to a three-phase, 50 Hz supply. What will be the
equivalent star-connected impedance that draws the same current when connected to the same supply
voltage?

A Ty GRSt (3 + j6) Q, U diH-aRU1 50 Hz ST A See1 # & ¥ 1 98 e RR-Gaa ferae o
BT o T SMTYfd dleesl ¥ SIS R I8 SHM YRT Jial (31 dT)?
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(A)O (3+j6)Q

(
(3+j6)Q
(B)O (6+j12)Q
(6+j12) Q
(1.5+j3)Q
(15+j3) Q

(©)O

(D) O (1 +j2) Q (Correct Answer) (Chosen option)

(1+j2)0

Question No.86

The Sl unit of conductance is:
BT BT TY. TS, TS 7T 82
(A) O ohm

3

(B) O amps
Tq
(C) O volts

R

(D) O siemens (Correct Answer) (Chosen option)

Question No.87

For a three phase, 4-pole, 50 Hz synchronous motor, the frequency, pole number and the load torque are all

halved. The motor speed will be:

T dH-ROI, 4-d, 50 Hzﬁ?ﬂﬁ*«ﬂﬁlﬂ%%ﬁ MR, 4 WSAT 3R YR TeTul Tadh! M HR a1 S 71

HIR BT IR Gl

(A) O 1500 rpm (Correct Answer) (Chosen option)

1500 rpm
(B) O 375rpm

375 rpm
(C)O 75rpm

75 rpm

(D) © 3000 rpm
3000 rpm

Question No.88

Which one of the following instrument is NOT a secondary instruments?
frafifed & & 1 a1 gm0, fgdas Ao 76t 52

(A) O Absolute instrument (Correct Answer) (Chosen option)

[RELEEILRE]
(B) O Recording instrument
HggA
(C) O Integrating ingtrument
HHTh T HIUGA
(D) O Indicating 'instrument
IId HIUYIA

Question No.89

The symbol shown in Fig. represents

o

o 7 qufar T ude (%)

o0t
(A) O On-load isolating switch
g-ars faerer o=

(B) O Single-break isolating switch
Uhd-

&I el FRar gl

(C) O Double-break isolating switch (Correct Answer) (Chosen option)

(D) O Isolating switch with earth blade

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark
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3f &g & 1Y faaeRt Raw

Question No.90 Marks: 1.00
Bookmark

In which type of wiring, Vulcanized Indian Rubber (VIR) and Polyvinyl Chloride (PVC) insulated wires are
used as conductors?

Y PR & dR-VITTH B, Gedbi-d YR IR (VIR) 3R GIAfagd FRES (PVC) faggd-Afid ari &1 IudimT
ArAD & T H e S 82
(A) O Cleat Wiring (Correct Answer)
GIREILE]

(B) O Lead sheathed wiring

AS-HINT TR-RITA
(C) O Metal sheathed wiring

YTd-P I TR-RITTA
(D) O CTS wiring (Chosen option)

CTS dR-VIMUq

Question No.91 Marks: 1.00
Bookmark

At present, Electricity Companies are governed by:
gdqH B fyega Hufar ERAEBIERRUINE R
(A) O Electricity (Supply) Act, 1948
fagga (emyfd) sifam, 1948
(B) O Electricity Regulatory commission Act, 1998
= s , 1998
(C) O Electricity Act, 2003 (Correct Answer) (Chosen option)
fagga sifefram, 2003
(D) O Electricity Act, 1910
, 1910

N

N

Question No.92 Marks: 1.00
Bookmark

Consider the following statements and choose the correct answer:
Statement 1: Power factor correction substations are generally located at the receiving end of a transmission

line.
Statement 2: Underground substations are generally located in thickly populated area.

frafifed Syt iR R &% SR U8t SR &I 797 BY:
HY 1: IR T[UTh TN U % AHTA: T TR0 A1s & et RR R fRua 81d g1
FHY 2: YT SUB% AHI: 31 STReT ardl & H fRUd gid § 1
(A) O Statement 1is FALSE and Statement 2 is TRUE
HYT1 AT IR HYT 2 T §
(B) O Statement 1 is TRUE and Statement 2 is FALSE
BYT 1 T & 3R HYT 2 A 7
(C) O Both Statement 1 and Statement 2 are FALSE
HYT 1 3R HYF 2 ST 3T §
(D) O Both Statement 1 and Statement 2 are TRUE (Correct Answer) (Chosen option)
PYT1 MR PYT 2 T &

Question No.93 Marks: 1.00
Bookmark

Which of the following statements is true for a dielectric?
Frafifed & 9 1 A HU T WR14eyd (ST3-3a1ae®) & g 9 82
(A) O They cannot become superconductors
3 ST Tl 97 Tdhd
(B) O Dielectrics are superconductors at high temperature
RIAGYd, I ATHH WR o gid &
(C) O They have very less breakdown voltage
T He dlecsl Sgd BH Bidl 8
(D) O Dielectrics are superconductors at low temperature (Correct Answer)
, e T '

v

Question No.94 Marks: 1.00
Bookmark

The field weakening method of controlling the speed of the DC motor is also called as

DC HIex 1 T & Fifd B arelt & Fefeiiepeu fafyr 1t T ST B
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(A) O constant torque control
R amyge! Fa=m

(B) O constant current control
RR yr1 =0

(C) O constant power control (Correct Answer) (Chosen option)

(D) O constant voltage control

R dleew g0

Question No.95

A three-phase overhead transmission line is being supported by three discs suspension insulators, the
potential across the first and the second insulator are 8 kV and 11 kV, respectively. String efficiency is

faggaRiue | faya Ha=T: 8 kv 3R 11 kV B | AT G&dl 31 82
(A) O 68.28% (Correct Answer)
68.28%

(B) O 65.28%
65.28%

(C)O 72.28%
72.28%

(D) O 63.28%
63.28%

Question No.96

The input impedance of a transistor connectedin __ arrangement is the highest.
A S gifoReR @I A uftanen e it el |
(A) O none of the above
SWRIad § A B T
(B) O common emitter (Chosen option)
IHIMY
(C) O common base
IHIME YR

(D) O common collector (Correct Answer)

IYGE HUTE

Question No.97

If a body having mass m, in kilograms, is lifted vertically through height h, in metres, and if g is the

gravitational acceleration, in metres per second squared, in that region, the potential energy acquired by the

body is:

Ife I m fHam a1d T IS 1 Seafera: Sars h Hiex d@ SR IS/ Il § SR e 9 &7 # o™

@R g Hier vl a1l Vs 8, a fifs gry iftreld fRufaw Soif 31d S|
(A) O

— joules

mg

— joules
mg

(B) O mgh joules (Correct Answer) (Chosen option)
mgh joules

(€O .
e Joules
h
mg .
—= Jjoules
h ‘}'
(D)O

m .
— joules
g

] fotiles
gh 7

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark
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Question No.98 Marks: 1.00
Bookmark
In thermal power station, the reasons of providing a chimney is/are:
Statement 1: To discharge the products of combustion at a greater height to avoid nuisance and to distribute
the fly ash whatsoever is left after dust collection to much larger areas.
Statement 2: To create more draught to pull the products of combustion.

Y fagygd $g #, Rt e $ B BRI &:

FHY 1: IUGd Y T & AU g8 & Il B 3w FHars W AR &1 3R 4 T8 & a1e o 5 v

T (YY) A9 8, I Tgd g8 & H faafea F=Am|

BYT 2: G5 & TGl Bl W & g Sfdd Fard S

(A) O Statement 1 is FALSE and Statement 2 is TRUE
FUT 1 3 § AR BT 2 T §

(B) O Both Statement 1 and Statement 2 are TRUE (Correct Answer)
FYT1 MM PYT 23 T &

(C) O Statement 1 is TRUE and Statement 2 is FALSE (Chosen option)
HYT 1 T § 3R HYT 2 A §

(D) O Both Statement 1 and Statement 2 are FALSE
HYT 1 AR BY 2 G 3T §

Question No.99 Marks: 1.00
Bookmark
Two coils of Ny and N turns are wound on a common core. If the current in coil 1 changes at 1 A/sec and it
induces an emf of 1 V in coil 2, the magnitude of mutual inductance is:
N4 3R N, I aret & Fefertl &) U & his W Faferd far Srar 81 afe Feel 1 7 URT 1 A/sec R uRafdd
B 8 SR T8 Hselt 2 7 1V BT emf WA IRl 8, A TR IReped T TRHTOT =l
(A) O 1 henry (Correct Answer) (Chosen option)
1

®O u,
—= henry
Ny

o . henry
Ny
C)O ;
i henry
N,

i henry
N,

©®O NN, henry

NN, henry

Question No.100 Marks: 1.00
Bookmark
A DC generator without commutator is a/an:

(@) P 81 DC SRR, T EaIE]

(A) O induction motor

(B) O AC generator (Correct Answer) (Chosen option)
AC

(C) ©O DC motor
DC HIe&X

(D) O DC generator
DC SFREX

Question No.101 Marks: 1.00
Bookmark
If the applied voltage to a certain single phase transformer is increased by 50% and the frequency is reduced
to 50%, assuming that the magnetic circuit remains unsaturated, the maximum core flux density will:

I U faRIY UH-TRO1 TRIHIER R AN dees & 50% Bt gfa &I o1t 8 3R My &Y 50% I HH a1 SIran €,
3R I8 | STl 8 b daata uRuy SRiqed X8 7, df Sifiedd s wead o9 |
(A) O change to 1.5 times the original value

IRAfdS HH BT 1.5 AT 81 @

(B) O change to three times the original value (Correct Answer) (Chosen option)
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ARAfd® W BT A= AT 8 SIem
(C) O change to 0.5 times the original value
T &1 0.5 AT G ST
(D) O remain the same as the original value
aRdfde JF & JHMH 7

Question No.102 Marks: 1.00
Bookmark

A conducting wire has a resistance of 10 Q. What is the resistance of another wire of the same material but
having half the diameter and four times the length?

T A1 aR & 10 Q $7 ufeiy 81 I Irgeht & GO aR b1 ufeRe o B, FrresT oom 3imert § 3R TS IR

TG
(A) O 800Q
80 Q

(B)O 200
20 Q
(C)O 40Q
40 Q

(D) O 160 Q (Correct Answer) (Chosen option)
160 Q

Question No.103 Marks: 1.00
Bookmark

Determine the saving in the volume of copper used in an auto transformer compared with a double-wound
transformer for a 200 V(primary)/140 V(secondary) transformer.
200 V(UTfAE)/140 V(fediad) SRR & T Ue fg-drad gRImR & |1y o B TR U 3Tl SRIBIR
T IUGRT fhT ST aTa HIR (d1e) & 3T H §9d F1d PIore |
(A) O 70% (Correct Answer)
70%
B) O 40%
40%
(C) O 30%
30%
(D) © 60%
60%

Question No.104 Marks: 1.00
Bookmark

The substations which change the voltage level of electric supply are called
3 IUdg (FERTH) 1 e ¢ Ol [9Gd 3MYfd b dleeol TR I URafdd P 82

(A) O converting substations
(B) O switching substations (Chosen option)
e Iudn
(C) O transformer substations (Correct Answer)

(D) O frequency changer substations

Question No.105 Marks: 1.00
Bookmark

Short pitched coils are deliberately used in an alternator, because:
it yramad e (sifeeeR) H @Y SHaRTd arelt Heferal oY STH-ghR IudiT o AT ofrel §, Fi?
(A) O All of the above (Correct Answer) (Chosen option)
S |t
(B) O they save copper of end connections
R Gl & S Y sl
(C)O eddy current and hysteresis losses are reduced thereby i |ncreasmg the efficiency
YR YR 3R RRRR &1 & €1 ot € s uRumeasy g 4 gfg it &
(D) O they improve the waveform of the generated EMF
3 IUF EMF & TIRT & GYR Rl &

Question No.106 Marks: 1.00
Bookmark

The fundamental difference between a transmission line and a feeder is that:

TeRUT A8 3R THRS & s Aifere 3idR 31 872
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(A) O transmission line is shorter and operates at less voltage than feeder
HEROT AT, RSP BT ga-T & BIcT 8! § 3R HH dlecs] IR FdTad 8l §
(B) O transmission line is longer and operates at more voltage than feeder (Correct Answer)
(Chosen option)
HERT WIS, UHRS B goil & wal gial g 3R e diee W Fnferd gt @
(C) O transmission line is shorter and operates at more voltage than feeder
TEROT A, YRS B! gaT1 & BIct 8! § 3R 3P dlees R Tarferd gl 8
(D) O transmission line is longer and operates at less voltage than feeder

TR A, MRS BT ol § sl gl § SR HH dlecsl W Hamerd i &

Question No.107 Marks: 1.00

Bookmark
Fig. shows two alternators with identical speed / load characteristics connected in parallel. The circulating
current under no-load condition is

1, I
- - T -
| |
=z =z,
| |

(~) E, (—~) E,

S
A
/ o
i
l——

X 7
o & TOReT A1d / YR SIS0 Il AR B G &) Yeddd (3ffeexe?) ST T 8| Y-HR Rufy #
IRERY URT Gl

‘ e I ‘

@ E, E l
| _?I, I -
VO (E - B)
1+ Z2)
(Ey — E3)
1+ Z2)
©0 (E, + E)
(Z1+ Z3)
(E1 + E3)
(Z1 + Z2)
@O 7,7,
(2, +12))
2,2,
(2, +12))
®O 7.7,
m(EfEﬂ
Il

(Zl _ Zg) (El i EZ)

(Correct Answer)

(El — EZ) (Chosen option)

(E; — Ep)

Question No.108 Marks: 1.00
Bookmark
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When the light increases, the reverse current in a photo-diode:

9 UHRT § gfG Bid 8, O USRI SIS | U 4Ry
(A) O decreases
HH Rl
(B) O remains same
JHH 70
(C) O increases (Correct Answer) (Chosen option)

(D) O none of the above

IRIad & T B3 el
Question No.109

The SF6 circuit breakers are preferred for the substation with:

a1 Iub sl & forw SFe uRuy f3aisTes! o) aigdr &) Wit 2|
(A) O 11 kV
11 KV

(B) O 33kV
33 kV

(C) O 220 kV (Correct Answer) (Chosen option)
220 kV

(D) O 110 kV
110 kV

Question No.110

A bipolar link in a HVDC transmission has conductor(s).
HVDC T=RUT & fbdt fgydia R & EIREASRISAGGE!
(A) O four

IR

(B) O three
GIG]

(C) O one
6
(D) O two (Correct Answer)

Question No.111

The basic topology of single phase, full bridge inverter fed by a DC voltage source requires:

T& DC Jees AId gRT UHIRT ThHa-aR0I, Jof foisl $-a¢x &1 Hiferd Fifeufa & BT SHTTAHAT gl 5|
(A) O 4 SCRs and 2 diodes
4 SCR 3R 2 SIS
(B) O 2 SCRs and 2 diodes
2 SCR 3R 2 SIS
(C) O 4 SCRs and 4 diodes (Correct Answer)
4 SCR 3R 4

(D) O 2 SCRs and 4 diodes
2 SCR 3R 4 SIS

Question No.112

If the height of transmission tower is increased:
TS TR0 A TR BT ST | gig b ST g af
(A) O the line capacitance and inductance will not change
AT YT 3R IR & IS uRad Fel g
(B) O the line capacitance will decrease and line inductance will increase

g Tfiar H et gt oiR g IR H gfi g R

(C) O the line capacitance will decrease but line inductance will remain unchanged (Correct
Answer) (Chosen option)

T eTiar § St gt uRg @ R srufvafda @

(D) O the line capacitance will increase but line inductance will decrease

g e 7 gfg Fft wReg @3 IRebed | Ht gl

Question No.113

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
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Bookmark

Swinburne test is conducted on DC machine under which of the following conditions?
DC TR TR W@rge gten fAufafad & 9 forg fRufa & Tenfera fasan sman 82
(A) O half load

e YR
(B) O any of the above (Chosen option)

SRIFd | ¥ PIs ot
(C) O no load (Correct Answer)

BIE UR el
(D) O full load

qul YR

Question No.114 Marks: 1.00
Bookmark
A thyristor based chopper operates at 10 kHz in TRC mode. The turn-off time of the inverter-grade SCR is 12
ys. Find the maximum possible duty ratio of the chopper.

TP USRI MR TR, TRC 7S H 10 kHz TR Te1ferd 81T 81 $79¢3-98 SCR BT IHA-HIA 12 ps g1 TR
BT HABIH FHI SUARTAT U I BT |
(A) O 66%
66%
(B) O 88% (Correct Answer)
88%
(C)O 55%
55%
D)O 77%
77%

Question No.115 Marks: 1.00
Bookmark
Three resistors of conductance 0.1 Siemens, 0.4 Siemens and 0.5 Siemens are connected in parallel.
Calculate the equivalent resistance of the circuit.

e 0.1 WA, 0.4 FHY 3R 0.5 WA I A1 wfeRiyew! &1 a1l o7 o SST ST € | IRy BT Jea@ uferiy
1 DIfT|

(A) O 1Q (Correct Answer) (Chosen option)
10

(B) O 0.06 Q
0.06 Q

(C)O 145Q
145 Q

(D)O 7.25Q
7.250Q

Question No.116 Marks: 1.00
Bookmark
Which of the following is non unit type of protection in transmission line?
TR A1 § F-gAC UHR HT &1 Faferead & 3 eH-a1 82
(A) O Pilot wire differential protection
TR AR HeETerd I&m
(B) O Carrier current protection
dig YRT &1
(C) O phase comparison carrier protection
EEEEEIEIERE

(D) O Current graded over current protection (Correct Answer)

HTRT HTHD SAFALRT T&0T

Question No.117 Marks: 1.00
Bookmark
A lift of 200 kg mass is raised with a velocity of 5 m/s. If the driving motor has an efficiency of 80 percent,
calculate the input power to the motor.
200 kg SH aTell T fAIde BT 5 m/s & 3T & T1Y HUR IS o1 ¢ | A SR Hiex (2ma AieR) o gern
80 UfaId &, d Hiex 3 fRfas e 31d sifor
(A) O 1.25kW
1.25 kW

(B) O 12.25 kW (Correct Answer)
12.25 kW

(C)O 14.25kW
14.25 kKW

Page - 33


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny


(D) O 7.25 kW
7.25 kW

Question No.118

In a three phase transformer, the total load carried by a V-V bank is of the capacity of a A-A bank.

TS H-aR01 SRAHBIR 8, T V-V 9% §RT d1fed o HR, Th A-A S B &1 HT
(A) O 66.67%
66.67%

(B) O 87.77%
87.77%

(C) O 33.33%
33.33%

(D) O 57.73% (Correct Answer) (Chosen option)
57.73%

Question No.119

The main disadvantage of direct underreach transfer scheme is its
SRRGT KT TR WhIF ST G 1 1 52
(A) O incapability for simultaneous tripping of both end relay
S i Rl ot g fawied o forg e
(B) O higher time of operation
e &1 3= A
(C) O mal-operation due to noise by switching (Correct Answer)
e gr1 @afy & sRor eyt wareE
(D) O higher cost
3 drTd

Question No.120

A three-phase balanced Y-connected motor draws 6.5 kW when the line voltage is 220 V and the line current

is 20 A. Determine the power factor of the motor.

S ATE dlees 220 V 3R ATE URT 20 A § dF dH-2R0T Sferd Y-Taiford HieR 6.5 kw Wit (SF ) §1

TR &1 o T[0T JTd DI
(A) O 0.65
0.65

(B) O 0.95
0.95

(C)O 0.75
0.75

(D) O 0.85 (Correct Answer) (Chosen option)
0.85

SECTION 2 - SECTION 2

Question No.1

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.

9g fadey g St fau T fadedl §f 9 T SRIATA e/ W&/ qUl-gw Bl
(A) O Den
Den (&)
(B) O Kennel
KennelW)
(C) O Hive
Hive(gTd)
(D) O Calf (Correct Answer) (Chosen option)
Calf(hTh)

Question No.2

If + means x, x means —, + means + & — means +, then,
146-2+3x123x5+2="7
& + BT 37k x, x BT 3AA G —, = BT 3f + SR —FT 3ef + g,
146-2+3x123 x5+ 2 =7
(A) O 132

132

Marks: 1.00
Bookmark

il

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark
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(B)O 128
128

(C)O 116
116

(D) O 86 (Correct Answer) (Chosen option)
86

Question No.3 Marks: 1.00
Bookmark
Find the supplementary angle of 123.32° .(In degrees)
123.32° BT GRS DI G Hiforg | (F$T H)

(A) O 52.68
52.68

(B) O 54.68
54.68

(C) O 50.68
50.68

(D) O 56.68 (Correct Answer) (Chosen option)
56.68

Question No.4 Marks: 1.00
Bookmark
Choose the word which expresses nearly the opposite meaning of the given word " GLEAM ".

(A) O Flicker
(B) O Twinkle
(C) O Glance

(D) O Dullness (Correct Answer) (Chosen option)

Question No.5 Marks: 1.00
Bookmark
X can do a piece of work in 268 days. X worked at it for 54 days and then Y finished the remaining work in
214 days. In how many days can X and Y together finish the work?
X, T BT &1 268 & § &R I g1 X 7 54 fai b 50 W &4 o siR R Y A Aw srd &t 214 feAi A qmu
R for X SR Y freras fr fal B 39 &8 &I G IR o 62
(A) O 136
136
B) O 132
132
(C) O 134 (Correct Answer) (Chosen option)
134
(D) © 130
130

Question No.6 Marks: 1.00
Bookmark
If a mirror is placed on the shaded line, then which of the following given images will be the correct mirror
image?
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© 0

D) O

(Correc t Answer ) (Chosen o ption)
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Question No.7

In this question, three statements are given followed by three conclusions. You have to assume
everything in the statements to be true, then decide which of the given conclusions logically follows
beyond a reasonable doubt from the information given in the statements.

Statements: Some boys are students. All students are legends. Some legends are players.

Conclusions:

i) Some legends are boys.

ii) Some players are students.

iii) Some boys are players.

T Uy #, 9 Y F 91¢ F ey e e g1 emue! few N Sy # g A 8, e Rofa A @
for fou U A @ P19 T1 fAewy Y= A §f 7€ SR 31 3R TdE § W, difchd ©U A FHI0 ST B

BY: PO AP, OF &1 I B, R §1 o e, et €1
e

i) $ e, 8% Bl
i) 7 e, e 7l
iil) S TP, RS €|
(A) O Onlyi)andii)
Fad i) 3 i)
(B) O Only i) (Correct Answer) (Chosen option)
i)
(C) O Onlyii) and iii)
i) 3T iii)
(D) O All follow
Tt SR HR &

Question No.8

Find the rational number for recurring decimal 0.438383838...

3Tl SYHAd 0.438383838... & forw uRAg T J1d HifoTu|

(A) O 436/990
436/990

(B) O 438/990
438/990

(C) O 434/990 (Correct Answer) (Chosen option)
434/990

(D) O 440/990
440/990

Question No.9
If the sum of interior angles of a polygon is 9180 degrees, find the number of sides of the polygon.
e Teb IgYS & 3MARD DIV BT INH 9180 %@ﬁ% Al SgYS B Y131 B HBAT J1d BifoTd |
(A) O 53 (Correct Answer) (Chosen option)
(B) O 55
(C)O 57

(D) O 51

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark

Marks: 1.00
Bookmark
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Question No.10

Choose the word which expresses nearly the opposite meaning of the given word " SPRINKLE ".

(A) O Shake
(B) O Spot
(C) O Collect (Correct Answer) (Chosen option)

(D) O Dust

Question No.11

Fill in the blanks with suitable Preposition from the given alternatives.

England skipper Joe Root is excited to bat number three in the Ashes cricket series.

(A) O at (Correct Answer) (Chosen option)
(B) O on
(C)O in

(D) O over

Question No.12

Which of the following set of signs should be used to replace * in the following?

23*3*9=70*2*25
frafafad 4 * &1 ufawnfta e & fou, Rl & Fafeied o 3 9 a9z &1 wan fear S arfge?

23*3*9=70*2%25
(A) O +=+x-

+ + X -

(B)O X+ + x

X+ + x
(C) O x-++ (Correct Answer) (Chosen option)
X -+

(D) O +xx+

+ X X +

Question No.13

IfP=25J=4,L=16M=2thenP+MxL=+J=?
gEP=25J=4,L=16,M=2,AP+MxL+J=?
(A) O 100

100

(B) O 98
08

(C)O 48
48

(D) O 50 (Correct Answer) (Chosen option)
50

Question No.14

Find the area of a circle whose radius is 245 cm. (In cm2)

TP I BT A F1d P orae! BIsa 245 cm B 1 (cm?2 H)

(A) O 600251 (Correct Answer) (Chosen option)
600251

(B) O 60325
603251

(C) O 60125m
601251

Marks: 1.00
Bookmark
Marks: 1.00
Bookmark
Marks: 1.00
Bookmark
Marks: 1.00
Bookmark
Marks: 1.00
Bookmark
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(D) O 602251
602251

Marks: 1.00

Question No.15
Bookmark

Find the remainder, when 643383 is divided by 9.
Y JTd BT, 5IF 643383 hI 9 J fHiTa fovan Srar g1

(A)O 2
2

(B) O 0 (Correct Answer) (Chosen option)
0

(©)O 6
6

(D)O 4
4

. Marks:
Question No.16 1.00
Bookmark

Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series?

SOl © S ¢ (O

O 10010 1 S 1o ofl

00010 & | o S o

(1) (2) (3) (4)
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(1), (2), (3), (4) F T T Wegiferd g o T B F B3 & 718 saen & oy srreh B3 grfte

OOl © OS¢ (|l O

o100l o ool
OO00CC & || o O o

(1) (2) (3) (4)
(A)O 4
4
B O 3
3
(C) O 1 (Correct Answer) (Chosen option)
1

(D)O 2
2

Question No.17 Marks: 1.00

Bookmark
Choose the word which best expresses the similar meaning of the given word " APATHETIC ".

(A) O Feeling
(B) O Uncaring (Correct Answer)
(C) O Caring

(D) O Responsive

Question No.18 Marks: 1.00

Bookmark
A batsman scored 210 runs which included 9 fours and 8 sixes. What percent of his total score did he make
by running between the wickets?
T TSI A 210 I F1E o 9 Aidh TR 8 Tadh AW A1 I ST A A1 BT a1 Ufa=rd fadbel &
a9 Sre-gledm) FmT?
(A) O 55
55

(B) O 50
50

(C) O 60 (Correct Answer) (Chosen option)
60

(D) O 65
65

Question No.19 Marks: 1.00

Bookmark
In a certain code language:
'time is gold' is written as 'ba lu ji',
'gold looks great' is written as 'kt om [u'
'kani is great' is written as 'om ba np'.
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What is the code for 'time' in the given code language?
T Afdd ey o

'time is gold' &1 'ba lu ji' P T | feraT ST 8,

'gold looks great' P 'kt om Iu' & &Y H ferar Srar %
'kani is great' P 'om ba np' % =u I forar S %I

ﬁﬂéﬁwﬁ'time'immaﬁgmw%?
(A)O lu

(B) O ba
(C)O om

om
(D) O ji (Correct Answer) (Chosen option)
ji

Question No.20 Marks: 1.00
Bookmark
When an article is sold at Rs.5964 after a discount of 30%, find its marked price. (In Rs.)
TH I 30% B! FT & d1G Rs.5964 TR Fd1 STt 7, IUHT SHfohd Ted J1d FioW | (Rs. H)
(A) O 8520 (Correct Answer) (Chosen option)
8520
(B) O 8620
8620
(C) O 8720
8720

(D) O 8420
8420

Question No.21 Marks: 1.00
Bookmark
The average weight of 24 bags in a godown is 180.5 kg and that of the remaining 16 bags is 25 kg. Find the
average weight of all the bags in the godown.(In kg - rounding off to two decimals)

T e H 24 Al BT 3G a0l 180.5 kg T 31X [N 16 Al 1 aoi 25 kg & | Tam & Tt At 7 3igd aor
I BN (kg H - T SRAAT q% YUIiTchd HIoTT)
(A) O 120.3

120.3

(B) O 116.3
116.3

(C) O 118.3 (Correct Answer) (Chosen option)
118.3

(D) O 122.3
122.3

Question No.22 Marks: 1.00
Bookmark
Fill in the blanks with suitable Article from the given alternatives.

The vehicle is made of steel.

(A)O a

(B) O No Article (Correct Answer) (Chosen option)
(C)O an

(D) O the

Question No.23 Marks: 1.00
Bookmark
10 litres is drawn from a cask full of Milk and is then filled with water. This operation is performed once more.
The ratio of the quantity of milk now left in cask to that of the water is 36:64. How many litres of Milk was
there in the cask originally?
Y W Y I 10 THex g FAabTem orar 7 ok fhr 38 urft ¥ R fear o1 81 78 &1 U IR i fan Sran g
39 U B 5 U G B T ST U & T & 1Y SI0Td 36:64 ¢ Jo U I G H fora diiex gy U1?
(A) O 21
21
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(B) O 23
23

(€O 19
19

(D) O 25 (Correct Answer) (Chosen option)
25

Question No.24 Marks: 1.00
Bookmark

Find the next number in the series.
5,14, 39, 112, 329, ?
9oft & SrTell TveAT 1d B
5,14, 39, 112, 329, ?
(A) O 979
979
(B) O 978 (Correct Answer) (Chosen option)
978
(C) O 980
980
(D) O 981
981

Question No.25 Marks: 1.00
Bookmark
In a row of 26 persons facing North, Person A is 13th from the right side. After shifting him third to the left
from the existing position, what is his position from the left side now?
TS Ufdd T 26 Sfdd IR B 3R AT €, AT A, TR 3R T 13 T RIM W 8| HIGe I I 3 a1 3R F
RIM R ARG HA & F1E, 39 a8 3R I IS RIH 1 82
(A) O 10
10

(B) O 14
14

(C) O 11 (Correct Answer) (Chosen option)
11

(D)O 12
12

Question No.26 Marks: 1.00
Bookmark

The price of jam and bread together costs Rs.46.20 and difference of the price of bread & jam is Rs.34. The
price of bread is higher than the price of jam. Find the price of the jam.

I 3R ¥ I Bt U 1Y B Rs.46.20 §, SIR 98 3R O S ST BT 3R Rs.34 §| 9IS B! HIAd T B
P Y 3fip B1 51 I P10q I1d P
(A) O 32
32
B) O 40.1
40.1
(C) O 6.1 (Correct Answer) (Chosen option)
6.1

(D)O 34
34

Question No.27 Marks: 1.00
Bookmark
In a certain code language, if STUPID is written as UTSDIP, then how is CHOICE written in that code
language?

gﬁﬁ@ﬁwwﬂ,uﬁsmploaﬁwsmp % = B ot o1 8, df CHOICE 1 It {1 H 36 forat s
?

(A) O ECIOHC
ECIOHC

(B) O HCIOEC
HCIOEC

(C) O COHCIE
COHCIE

(D) O OHCECI (Correct Answer) (Chosen option)
OHCECI
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Question No.28 Marks: 1.00

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

The tables were lined up the wall.

(A) O along (Correct Answer) (Chosen option)
(B) O about
(C) O of

(D) O since

Question No.29 Marks: 1.00

Bookmark
In the following question, one part of the sentence may have an error. Find out which part of the sentence
has an error and select the option corresponding to it. (Avoid punctuation errors)

(A) All the furnitures have been / (B) sent to the old office / (C) located in a town. / (D) NO ERROR

(A) O A (Correct Answer)
B8O D
(©0O C

OO B

Question No.30 Marks: 1.00
Bookmark
Find the next number in the series.
225, 198, 210, 183, 195, ?
9ot H ATt TReAT A B
225,198, 210, 183, 195, ?
(A) O 168 (Correct Answer) (Chosen option)
168

(B) O 165
165
(C)O 166
166

(D) O 167
167

Question No.31 Marks: 1.00
Bookmark
The selling price of the chair is Rs.12325 after a discount of 15%. If the cost price is 50% of the marked price,
then find the cost price. (In Rs.)
15% @1 GC & 91G UHh Pl BT (960 T Rs.12325 7| Al AT e, 3ifdrd Ted o1 50% &, Al a1 Hed A1
P (Rs. H)
(A) O 7250 (Correct Answer) (Chosen option)
7250

(B) O 7550
7550
(C)O 7350
7350
(D) O 7450
7450

Question No.32 Marks: 1.00

Bookmark
The difference between the interest earned on the same amount invested under compound interest and
simple interest at same rate of interest for 2 years is Rs.132. If the rate of interest is 5% p.a. then find the
amount invested? (In Rs.)

2 9 & oY ST Bt THH <R WR Tshfe SToT SR IR SIS & dgd AR JHH AR TR Sifold st & s
1 3R Rs.132 | TS ST BT &R 5% Ufaas g af o< &t 718 A J1d HIfvTe? (Rs. H)
(A) O 51800
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51800

(B) O 52800 (Correct Answer) (Chosen option)
52800

(C) O 50800
50800

(D) O 53800
53800

Question No.33 Marks: 1.00

Bookmark
A train 525 meters long running at a speed of 103 kmph overtakes another train which is 425 meters long
running at a speed of 73 kmph in the same direction. Find the time taken by the faster train to overtake the
slower train. (In seconds)

T 525 HIex dell ¢ ST 103 kmph 1 T11d & 9 351 &, GO ¢ U ST e STt 3 S 425 Hiex dell & 3R St
?qnﬁm kmph @1 T ¥ 97 61 g1 ¢t 27 3 e & fore Ot 27 g1 foran o 4o rd Sifv | (@S
)
(A) O 118
118

(B) O 116
116
(C)O 120
120

(D) O 114 (Correct Answer) (Chosen option)
114

Question No.34 Marks: 1.00

Bookmark
Select the appropriate set of sequence of mathematical operators to replace all * sign in the following
equation & hence to balance it.

9*6*62*8
Fofarea grteor & Tt + fogl &) ufawnfta H7 3R 8 Tgferd w=a & fo Tikdia YeRe! (fReRt) &
SIHH & UG T &1 I Bl |

9*6*62*8
(A) O +x=

+ X =

(B) O x =-(Correct Answer) (Chosen option)

X =

(C)O x+

X +

(D) O

X X

Question No.35 Marks: 1.00

Bookmark
A can type 200 pages in 15 minutes. B can type 100 pages in 6 minutes. If A and B are working together then
they can type 180 pages in how many minutes?

A, 15 i ® 200 ¥ T30 &R T ¢ | B, 6 e T 100 U§ <150 &R Udhdl 31 A A 3R B T ITY HTH R 9
g < 9 fpam el © 180 U 13U R Udhd 87

(A) O 20 (Correct Answer)

(B)O 15

(C)O 30

D) O 25

Question No.36 Marks: 1.00

Bookmark
Fill in the blanks with suitable Article from the given alternatives.

Dhruv is kind hearted person.

(A) O a(Correct Answer) (Chosen option)

(B) O an
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(C) O the

(D) O No article

Question No.37 Marks: 1.00
Bookmark
Find the curved surface area of a cylinder with radius of 21 cm and height of 101 cm. (In cm? and use
m=22/7)
21 cm @ BT 3R 101 cm &Y ST aTdl T RIS &1 I gEIT 8% J1d BT | (cm? B 3R = 22/7 HT
TN FIf)
(A) O 13332 (Correct Answer) (Chosen option)
13332

(B) O 14332
14332
(C)O 12332
12332

(D) O 11332
11332

Question No.38 Marks: 1.00
Bookmark

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.

169, 121, 225, 324, 249, 256

98 fawey gfu it fau U fadetl & 9 Ue SRiTTd ea/ W1/ 9U-gi Bl

169, 121, 225, 324, 249, 256

(A) O 256
256

B) O 121
121

(C) O 249 (Correct Answer) (Chosen option)
249

(D) O 324
324

Question No.39 Marks: 1.00
Bookmark
In this question, two statements are given followed by two conclusions numbered i and ii. You have
to assume everything in the statements to be true, then decide which of the given conclusions
logically follows beyond a reasonable doubt from the information given in the statements.

Statements: All apples are oranges. All oranges are Mangoes.
Conclusions:

i) All apples are mangoes.

ii) Some mangoes are oranges.

Choose the appropriate one from the following options

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

THUY H, 3 HYHl P 91 ot Frepy i 3R ii faT T &1 smue! W U Syl &Y I w8, fbw fAofa @
:g1%51%53Tnzifi#iﬁkﬁ'anfENEETiEﬁzﬁifii TS TSR &7 3fUd Wee A W, difb® FTU A ST HIal

|

Y T A9, TR &1 I IR, 3§
A

i) Tt A, o F|
ii) P MH, TR B

fAafeRad fawe & ¥ Iuga te g
(A) Badt Y | SFTTRUT BT

(B) ot frseh i SERUT el &

(C) TN i T ii STHRVT BT B

(D) Vi 3R A& i TR BT &
(E) i TR i G SIER0T Bl &

(A)O A
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A
B)O C
@

(©)O B
B

(D) O E (Correct Answer) (Chosen option)
E

Question No.40 Marks: 1.00
Bookmark
The salaries of A, B and C are in the ratio of 6:5:11. If their total salary is Rs.2750, find the salary received by
C?(InRs.)
A, B 3R C &1 3 6: 5: 11 % 3I0Td & g1 TG ST $d d Rs.2750 §, Al C GRT YT da- J1d HIToE? (Rs.
)
(A) O 1375 (Correct Answer) (Chosen option)
1375
(B) O 1275
1275
(C) O 1475
1475
(D) O 1575
1575

Question No.41 Marks: 1.00
Bookmark
Find the next number in the series.
121, 144, 190, 259, 351, ?
oft o pTelt <veam F1d HifoW |
121, 144, 190, 259, 351, ?
(A) O 468
468

(B) O 466 (Correct Answer) (Chosen option)
466

(C) O 467
467

(D) O 465
465

Question No.42 Marks: 1.00
Bookmark
In a certain code language, if QUIET is written as VRJUF, then how is TOUCH written in that code language?
T fAf3d GeHt §, afd QUIET B VRIUF & =0 § fora ST B, @ TOUCH &Y St 1o & 9 forar e 82

(A) O UDVPI
UDVPI

(B) O PUVID (Correct Answer) (Chosen option)
PUVID

(C) O UQXxcMm
UQXGM

(D) O IDVPU
IDVPU

Question No.43 Marks: 1.00
Bookmark
The average of 4 terms is 190 and the 15t term is 1/3 of the remaining terms. What will be the first term?
4 TTSHt T 3 190 § SR UGl T AW TRaff HF 1/3 B 1 gt T2 B Wt ghit
(A) O 175
175
(B) © 180
180
(C) O 190 (Correct Answer) (Chosen option)
190

(D)O 185
185

Question No.44 Marks: 1.00
Bookmark
How many squares are there in the given image?
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@S onpfa  fre ol &2

(A) O 20 (Chosen option)
20

(B) O 17
17

(C) O 16 (Correct Answer)
16

(D)O 15
15

Question No.45 Marks: 1.00

Bookmark
Choose the best option from the given alternatives which can be substituted for the given word/sentence.

A person who loves wealth but spends as little money as possible.

(A) O Miser (Correct Answer) (Chosen option)
(B) O Abdicate
(C) O Elope

(D) O Pedant
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Question No.46 Marks: 1.00

Bookmark
In this question, three statements are given followed by two conclusions numbered i and ii. You have
to assume everything in the statements to be true, then decide which of the given conclusions
logically follows beyond a reasonable doubt from the information given in the statements.

Statements: Some irons are cobalts. All cobalts are nickels. All irons are coppers.
Conclusions:

i) Some irons are nickels.

ii) Some coppers are cobalts.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

T Uy &, I9 SU= & 916 &) frsepd i 3R i few e €1 sy fiw T Syl % g | 7, fbw fafa
hégsmmﬁﬁﬁmmmﬁﬁaﬁmmmmﬁﬁ,arﬁmwﬁeaﬂw
Har gl

wm:w&nﬂw,aﬁm%lmﬂm,ﬁw%lwﬂw,aﬁuﬁ%l

i) P SR, P B
ii) FS DI, BTy g

fafifed faswedl & 9 Sugad Us gfu
(A) Bt frshY | SFJERUI BT §

(B) Fact fFrseh i 3ERUT BT §

(C) TN i T ii STERVI BT &

(D) di 3R T ii TR BT &
(E) i 3R ii T STV B &

(A) O E (Correct Answer)

(B) O
€O
0) O

OO0 >> ww m

Question No.47 Marks: 1.00
Bookmark
If a train travels from Mumbai to Pune at 23 kmph and then returns from Pune to Mumbai at 77 kmph, what is
the average speed for the whole journey? (In kmph)
I ®I3 7 s F Ol d% 23 kmph aﬁv%@faa?ﬁ% 3R forR aftr qot ¥ gas & o 77 kmph @1 71fd F Tt

2, O gt aen & e Ige 3hgd TIfY bt 82 (kmph H)

(A) O 31.42
31.42

(B) O 33.42
33.42

(C)O 29.42
29.42

(D) O 35.42 (Correct Answer) (Chosen option)
35.42

Question No.48 Marks: 1.00
Bookmark
What percent of 7.2 kg is 2088 gms?
7.2 kg 1 {1 Ufa=rd 2088 gms BT 82
(A) O 29 (Correct Answer) (Chosen option)
29

(B) O 33
33

(C)O 31
31

(D) O 27
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Question No.49 Marks: 1.00
Bookmark
Choose the word which best expresses the similar meaning of the given word " DUBIOUS ".

(A) O Probable
(B) O Frank
(C) O Clear

(D) O Fishy (Correct Answer) (Chosen option)

Question No.50 Marks: 1.00
Bookmark
There is 45% increase in a principal amount in 4.5 years at simple interest. What will be the amount under
compound interest for Rs.13,400 after 2 years at the same rate? (In Rs.)

YR TS TR 4.5 AW 7 HAU H 45% B I §% o | I & W 2 W & 916 Rs. 13,400 P 1T Tehgie TSl b
g MR fobert gft? (Rs. H)
(A) O 15214 (Chosen option)
15214
(B) O 16214 (Correct Answer)
16214

(C)O 18214
18214

(D) O 17214
17214

Save 'rint
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